
FI Säätövaunu 2 DE Rasterrohrwagen 2

SV Inställbarvagn 2 FR Cadre de chariot 2

EN Multi trolley 2 ES Estructura del carro 2

860 065

860 429

860 813
851 483

848 336

860 819
847 402

840 106

840 104

M8 x 20

M8 x 16

M5 x 12

Treston Oy Sorakatu 1, FI-20730 TURKU • Tel. +358 10 4469 11 • info@treston.com • treston.com

ASSEMBLY INSTRUCTION
900039

2016-12-13
1 (2)



MAX 300 kg

M8 x 16/   M8 x 16 = ESD

M8 x 30

ASSEMBLY INSTRUCTION
900039

2016-12-13
2 (2)


